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MATHEMATIC A
TOPIC- Mensuration
2D shapes
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kg

18cm
13cm

xcm

Work out the value of x.
Give your answer correct to 3 significant figures.

__ (Total for

Diagram NOT
accurately drawn !

Mob: +974 55373670/ 33787500
€-mall:chymrc.muhammad@grail.com

uestion 8 is 3 marks)
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10 Here is an isosceles triangle.

Diagram NOT
accurately drawn

18cm 18¢cm

WAMY UL R T FEMAR TON O

Mob: +974 55373870/ 33787500
£-mall:chymrc.muharmmad@gmall.com

14cm

Work out the area of the triangle.
Give your answer correct to 3 significant figures.

€
A
Lz
-2
™
3
M
Ty
=X
T
*

cm

(Total for Question 10 is 4 marks)
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8 The diagram shows a triangle.

Diagram NOT
accurately drawn

Mob: +974 55373670/ 3318”;:30‘:0'“
_mait:chyinrc.muhammad@g .
(4x + 2) cm  § ey

The lengths of the sides of the triangle are 3x cm, (3x — 5) cm and (4x + 2) cm.
The perimeter of the triangle is 62 cm.

Work out the value of x.
Show clear algebraic working.

X =

(Total for Question 8 is 4 marks)
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11 The diagram shows a right-angled triangle and a rectangle.

Mob: +574 55373670 / 33787500
-ch ; {LEof

€- y m

i

Diagram NOT

9cm . !
7 cm accurately drawn

(8x +4) cm (10 —x) cm

The area of the triangle is twice the area of the rectangle.

(i) Write down an equation for x.

(i) Find the area of the rectangle.
Show clear algebraic working.

R A . A 45 R S ATV P

__(Total for Question 11 is 7 marks) -




15 Here is a trapezium.

2x — 4) E
— Diagram NOT { g
accurately drawn -
(x +3) -
o
L] NE
(x +5) =
¢
All measurements are in centimetres.
The area of the trapezium is 60 cm? x
ob: + 3670 / 33787500
(a) Show that 3x> + 10x — 117 =0 € e muhammas@gmal com
|-
{
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(b) Work out the value of x
Show your working clearly.
Give your answer correct to 3 significant figures.

T

__(Total for Question 15 is 6 marks)
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17 The diagram shows a trapezium.

x—1
o
3x—4

All measurements on the diagram are in centimetres.
The area of the trapezium is 119 cm?
(i) Show that 2x2—=x-120=0
(i1) Find the value of x.

Show your working clearly.

X=

Diagram NOT
accurately drawn

Mob: 874 55373670 / 33787500
£-mail:chymrc.muhammad@gmall.com

(Total for Question 17 is 6 marks)
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17

Diagram NOT

& A accurately drawn
]
2x cm
0
(x+7)cm i
The diagram shows a trapezium.
. 71 aQ ¢ 2
The trapezium has an area of 17 cm P pg——
E_ma";chymm,muhammud@gmll.com
(a) Show that 2x? + 7x—17 =0
1)
3
(b) Work out the value of x.
Give your answer correct to 3 significant figures.
Show your working clearly.
|
§
|
!
X = g
(Total for Question 17 is 6 marks) :
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8 The diagram shows a parallelogram ABCD.

B

a

Diagram NOT
accurately drawn

(7x —20)° (160 — 3x)°

A D

CRPTYNINE CFRT FORIE T LEMIAA RS RT £V

Angle BAD = (7x = 20)" I or bl i
Angle ADC = (160 — 3x)°

Work out the value of x.
Show clear algebraic working.

~ (Total for Question 8 is 3 marks) |
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- 21 LMNP is a quadrilateral.

o
e
. ¥ -
Diagram NOT -
! accurately drawn ¢
| :
2
L Z
2
v
L R
b2
Work out the size of angle MLP.
~ . . Mob: +974 55373870 / 33787500
Give your answer correct to 3 significant figures. E mal:chymre. muhammad@gmal com
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(Total for Question 21 is 6 marks)
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19 ABCD is a kite.

Diagram NOT
accurately drawn

YO ST A S CIRR T v

Mob: +874 55373670 / 33787500
E-mezll:chymrc.muhammad@gmsii.com

(&

Work out the area of the kite.
Give your answer correct to 3 significant figures.

i
4G
L
+C
R
S
o
.2
Y
L
14
E

..cm-

(Total for Question 19 is 3 marks)
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Diagram NOT
accurately drawn

Mob: +974 55373670 / 33787500
E-mall :chymrc.muhamma d@gmatl.com

D

ACE and BCD are straight lines.
AB is parallel to DE.

(a) Calculate the length of CD.

(b) Calculate the length of 4B.

The area of triangle ABC = T cm?

(¢) Find the area of triangle CDE in terms of 7.

cm?
(Total for Question 14 is S marks)
010
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